Al £ 0 & AFE

2 g

Al A

S HIS
M HAESKHEH JIERESH(AMI1S)
el AHESXNEH 29 Was (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
s 174,447 154,971 19,476
MM =XME JIBRASHAM1S) 117,370 80,780 36,590
HY=XME 28 Wast 117,370 80,780 36,590
sy g5 A& 86,070 65,880 20,190
201 fer= 3| 950 360 590
01 At 2|l 950 360 590
OSZ MES & 8 Hx
30,0002 *5H 150
OSTAANSIAS B4 2
100,000 4 & »23] 800
301 EtE N = 85,120 65,520 19,600
07 S8 -0 - 2243 85,120 65,520 19,600
Osgd =g 400,000 x14E« 122 67,200
OS&d g2 4= 400,000 x 14 23] 11,200
Osd2e &4 ¢
20,0003 x 14 22|« 12 6,720
FoIXxe 2 5,400 5,400 0
201 Ler=23| 5,400 5,400
01 Al2 2218 5,400 5,400
OZVXXIAS 519 EH 2o
20,0002 x25EH 122 x90f% 5,400
SA=Al & Atef2el 25,900 9,500 16,400
201 et 3| 11,400 9,500 1,900
02 s3=gHl 11,400 9,500 1,900
OSAHAE R 3,500,000 3,500
Oxr&= A2/l 2,500,000& 2,500
ORogA ZHlES4HH| 120,000 122 1,440
OSAt 2S4Sl 130,000& * 122 1,560
Ossitg 282 1,900
OSAt i8Il & HBisk =3 500
401 Al HIZL 201 14,500 14,500
01 Al&HI 14,500 14,500
OSAt =2 Y= 5,000
OSAF HEH HIETH SAH 4,000
SAH MBEFIE HIE SAH 4,000
OZ=2nlted| &x 1,500
HH2IAHI(M1S) 57,077 74,191 A17,114
=38l 57,077 74,191 A17,114
JI=23Hl 57,077 74,191 A17,114
201 ger=3| 31,037 30,311 726
01 AtR2te|H] 16,575 16,311 264
Oget=EH| 10,500,000 *95% 9,975




M MIS
Hu: HHSAALI(MIS)
Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAIZIRIZ2 X SAMHI
8,000 x6A 102 * 12 5,760
O3JI¥E)| dE 70,0002 122 840
02 S3=gHl 14,462 14,000 462
o882 & HA 14,462
202 04| 16,800 18,480 1,680
01 SLHoIH 16,800 18,480 1,680
OZLH0AHI 140,0002 x10E «12& 16,800
203 HE=H] 8,440 9,380 A940
01 V22 HRFa| 5,940 5,940 0
O=Z(el+ 3et 0/gh) 6,600, 0002 *90% 5,940
02 3t R F&| 400 440 A0
OFAIRALFTHI(F2102)
40,0002 10 400
M FA2HLRFEI 2,100 3,000 A900
ORNSZLR2FIHI(1021015H)
175,000& «12& 2,100
405 AtatE = 800 16,020 A15,220
01 ML ESFSHI 800 16,020 15,220
OSMAIED] WAl 800




H & 0l & AHS B Ml A

20243 =0l LB M1S ~ S4ES

SN MRS
M HAESKHEH IS AM28)
el AHESXNEH 29 Was (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Nes 225,156 186,219 38,937
MM =XNME JIBRASHM2S) 150,728 95,708 55,020
HY=XME 28 Wast 150,728 95,708 55,020
sy g5 A& 92,300 70,500 21,800
201 fer= 3| 1,100 300 800
01 At 2|l 1,100 300 800
OSHIES & 8 M=
30,0002 *10H 300
OSZANSIAS HAST
100,000 4 & »23] 800
301 EtE N = 91,200 70,200 21,000
07 S8 -0 - 2243 91,200 70,200 21,000
Osgd =g 400,000 x 15« 122 72,000
OS&d g2 4= 400,000 x 15 <22 12,000
Osd2e &4 ¢
20,0002 x15F 22|« 12& 7,200
FoIXxe 2 5,400 5,400 0
201 Ler=23| 5,400 5,400
01 Al2 2218 5,400 5,400
OXQINXIFIRE Blo EA =5
20,0002 x25EH 122 x90f% 5,400
SA=Al & Atef2el 52,332 19,112 33,220
201 et 3| 22,332 19,112 3,220
02 s3=gHl 22,332 19,112 3,220
OSAHAE R 8,000
OxEe N2 2,500
Oxtz 2| 1,700
OSelg Ay 8|
110,000 * 1204 & 1,320
@10 CEIVNPEETEIR =L
200,000 * 1204 & 2,400
OAZAIE &2 |Ue S|
160,000& * 12043 1,920
OLetE GOV 22l 71,0003+ 12042 852
OHMBBAE= FIIHEEH SHH|
900,000 22 1,800
OS A St| 120,000 * 1204 1,440
OdUB)l & sk =8 9| 400
401 AlEHIKL =] 30,000 0 30,000
01 AlZ2H| 30,000 0 30,000
OSAl S4 P4 U oAl
30,000,000 *14! 30,000
arile 29 6% 696 0
201 2egh=3| 696 6% 0




2A:

N2s

M HAESKHEH IS AM28)
ol HESAHE 29 WAt EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 S5=g4l 696 696 0
OXIot &M= 58,0002 1294 2 69%6
Y 2IBHI(M2S) 74,428 90,511 16,083
=&l 74,428 90,511 /16,083
JI23Hl 74,428 90,511 16,083
201 =3 36,888 34,312 2,576
01 AtR2t2lt] 18,888 18,312 576
Oget=ZH| 12,000,000 *95% 11,400
OAIZIRIZ2 X SAMHI
8,000 x6Ax 13 * 1204 7,488
02 S3=gHl 18,000 16,000 2,000
03323l & HAl 18,000,000& 18,000
202 04| 28,080 25,920 2,160
01 =LHOLI 28,080 25,920 2,160
OZLH0iH] 180,000 x 13120 & 28,080
203 HR=&H] 9,460 9,420 40
01 J|2=2gedR=a] 5,940 5,940 0
O=ZH(el7 3et 0/ 6,600,000 «90% 5,940
02 3t R F&| 520 480 40
OFIRARFTHI(H&13)
40,0002 13 520
04 FAE2EERFAH 3,000 3,000 0
ORNSZLR2FTIHI(1521015H)
250,000 * 1204 & 3,000




A £ 0l & AF & S

Al A

0248 =0ila LERIH 1S ~ SES
FA M3S
M BT ME J|P2ABH MIS)
ol HESAHE 29 WAt EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
M3S 217,99 182,243 35,756
MM =XIME JIBRASHM3S) 141,780 104,620 37,160
HY=XME 28 Wast 141,780 104,620 37,160
sy g5 A& 110,780 84,780 26,000
201 fer= 3| 1,340 540 800
01 At 2|l 1,340 540 800
OSH 423 2 Y N
30,0002 * 187K 540
OSZANARS Fa4g
100,000 4 & »23] 800
301 EtE N = 109,440 84,240 25,200
07 S8 -0 - 2243 109,440 84,240 25,200
Osgd =g 400,000 x18H 122 86,400
OS&d g2 4= 400,000 « 18 <22 14,400
Osd2e &4 ¢
20,0002 x18E +23| 122 8,640
FoIXxe 2 5,400 5,400 0
201 Ler=23| 5,400 5,400
01 At2teltl 5,400 5,400
O=oXAIAZS 2o 4 =&
20,0002 x25EH 122 x90f% 5,400
SA=Al & Atef2el 24,160 13,360 10,800
201 et 3| 24,160 13,360 10,800
02 s3=gHl 24,160 13,360 10,800
OSAHAE R 5,800
Oxr&= A2/l 1,500
Oxgesgz 2,500
OSAF 28 =48 JH| 3,500
Ollt+REsS uH 3,000
ORABHIEAH] 110,000« 12& 1,320
OS2I HEUE 2 HIM4SSHEXI(E0P) AL
=1=d 150,000& * 12 1,800
O&J|&H| etdate| eyl
120,000~ 128 1,440
OATAIEEE | 165,000~ 12& 1,980
OSAt A=ES 110,000& ~12& 1,320
STAlE 22 1,440 1,080 360
201 Ler=23 | 1,440 1,080 360
02 S3=4gl 1,440 1,080 360
OXlots &JIR=
40,0003 #3042+ 128 1,440
HE2AAHI(M3IS) 76,219 77,623 1,404
Jl=3H| 76,219 77,623 A1,404
JI=23H] 76,219 77,623 A1,404




. N3S

L BN 2IAYI(MIS)
- JI=3t EERE)
SA - B - SRUBH) - MRAR - BAS A HIDEZ
201 Let=dh] 39,039 36,963 2,076
01 AlR2teldl 18,039 17,463 576
Oget+=ZHI 10,500, 0002 *95% 9,975
OAIZt2I22
8,0003x641 %14« 122 8,064
02 s3=gHl 21,000 19,500 1,500
o882 & 21,000
202 04l 26,880 31,200 A4,320
01 2LHoIH 26,880 31,200 N\4,320
OZLH0AH| 160,000 x14F 122 26,880
203 HR=H] 9,500 9,460 40
o122y 5,940 5,940 0
OsE(e+3 6,600, 0002 *90% 5,940
02 &Itk 560 520 40
O™ 211401)
40,0002 14 560
M 22 3,000 3,000 0
ORN2gY 013t)
250,000 * 12 3,000
405 KHoHF S| 800 800
01 ML ESH 800 800
onlagsw 800




20243 = =0k LB

0
x

Al £ 0 & AFE

2 g

Al A

SN SAEIES
M HAESKHH JIEASHSAESS)
el AHESXNEH 29 Was (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SAESS 198,233 388,115 189,882
HHSXIME 2SS SS) 138,326 333,834 195,508
HY=XME 28 Wast 138,326 333,834 195,508
sy g5 A& 92,450 70,650 21,800
201 fer= 3| 1,250 450 800
01 At 2|l 1,250 450 800
OSZ MES & 8 Hx
30,0003 %15 450
OSEUARE B4 =&
100,000 4 & »23] 800
301 EtE N = 91,200 70,200 21,000
07 S8 -0 - 2243 91,200 70,200 21,000
Osgd =g 400,000 x 15« 122 72,000
OS&d g2 4= 400,000 x 15 <22 12,000
Osd2e &4 ¢
20,0002 x15F 22|« 12& 7,200
FoIXxe 2 5,400 5,400 0
201 Ler=23| 5,400 5,400
01 At2teltl 5,400 5,400
O=oXAIAZS 2o 4 =&
20,0002 x25EH 122 x90f% 5,400
SA=Al & Atef2el 10,200 69,680 59,480
201 et 3| 10,200 9,680 520
02 s3=gHl 10,200 9,680 520
OSAHAE R 2,500
Oxr&= A2/l 3,300
ORLABHIESHHI 120,000 122 1,440
OSA 2529 130,000& * 122 1,560
OXsxEE 1,400
STAlE 29 1,080 1,080
201 2egh=3| 1,080 1,080
02 S5=24g4l 1,080 1,080
OXot=&II2= 45,0003 x20H A+ 128 1,080
LAISAL O 29,196 41,880 12,684
201 Ler=23 | 29,196 41,880 A 12,684
01 AtR2telHl 26,796 38,280 A11,484
SAISAE SRS 3,349,500 «8& 26,7%
02 S3=gHl 2,400 3,600 1,200
OYAISAF 2teltl 300,000 +82 2,400
HY2AZHI(SMSS) 59,907 54,281 5,626
=3l 59,907 54,281 5,626
Jl=23H] 59,907 54,281 5,626
201 er2 3| 28,887 28,311 576




SN SAEISS
M HHRAZH|(SAESS)
Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 16,887 16,311 576
Oget+=ZHI 10,500,000 *95% 9,975
OAIZIRIZ R A SAHI
8,0003x641 %128« 122 6,912
02 S3=gHl 12,000 12,000 0
OsE2= & HA 12,000,000& 12,000
202 04| 21,600 15,840 5,760
01 2LHoIH 21,600 15,840 5,760
OZLH0AH] 150,000 * 12« 122 21,600
203 HRP=H] 9.420 9,380 40
01 V22 HRFa| 5,940 5,940 0
SE(QI7 38k 0Iet) 6,600,000 «00f% 5,940
02 At R S| 480 440 40
OFJIMHRFAH(F & 1221)
40,0002 12 480
M FA2SLRFAI 3,000 3,000 0
ORN2ILRFEHI(1521018t)
250,000 122 3,000
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AN BER1S
Ha: ME=THE JIBLSH(PDIS)
el AHESXNEH 29 Was (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 30 30
2 =523l 30 30
Ooug? Hlaa+AlE Kot &=
2,500+ 122 30
HY2AAH(221S) 1,592 73,066 A1,474
J1I=2dHl 71,592 73,066 A1,474
Jl=23H] 71,592 73,066 A1,474
201 el 40,572 34,812 5,760
01 At2t2ltl 18,312 18,312 0
Oget=ZHI 12,000,000 *95% 11,400
OAIZIRIZ R A SAMHI
8,0003x641 %128« 123 6,912
02 S3=gHl 22,260 16,500 5,760
OsE2= & HA 22,260
202 04| 21,600 27,360 Ab,760
01 =LHO LI 21,600 27,360 Ab,760
OZLH0iHI 150,000 x12& < 12& 21,600
203 HR=H| 9.420 9.420
01 J|2=gge=ay] 5,940 5,940
OsZ(217238t0]2t) 6,600, 0002 *90% 5,940
02 3t R F&| 480 480 0
OFAIRARFTHI(F & 122)
40,0002 12 480
M FA2HLRFAI 3,000 3,000 0
ORNSZLR2FIHI(1521010t)
250,000 122 3,000
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i’
oF
uJ
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KIO

Hlw

34,823
32,4%
32,4%

30,600

1,200
1,200
29,400
29,400
216
216
216
1,620
1,620
1,620

2,327
2,327
2,327

HMEE
Ofl &k2h

175,310
114,469
114,469

98,880
600
600

98,280

98,280

5,184
5,184
5,184
9,445
9,445
9,445

960
960
960

60,841
60,841
60,841

ol vy

210,133
146,965
146,965

129,480

1,800
1,800
600
1,200
127,680
127,680
100,800
16,800
10,080
5,400
5,400
5,400
5,400
11,065
11,065
11,065
3,500
4,000

1,200
1,300
1,500
1,440

685

600
1,020
1,020
1,020

1,020
63,168
63,168
63,168

- SRA(3) - HIRAEY

- ESS

S LRE-L

o

Ar
il

i

o
il

.

Ho

3

3
|x128

30,0002 20
3

%25+ 12 9%

100,000& 4 H+3

[und

400,000 x21E»2

400,000 «21F ~ 122

0,000

20,0003 *21H+2

2

01 AFS2t2ltl
01 AtR22telbl

30
O
Mo
[0

Xl

OsAtA
O

22/

teF= Al

=

1,300,000&
1,500,000

120,000& « 122
120,000 « 122

85,0002 »1CH

50,0002 <2CH+ 123
150, 0003 *4CH

OSAt &
Oulloi2t A=

30
0B
[0
M0

85,0002 * 1A+ 123

b= &IIR3

o

OXl

(F225)

R0
30
0B
RO

=
10!

"

Jl=23l




SN BZos
B #E2AAY|(222E)
Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 33,888 33,391 497
01 At2teltl 18,888 19,391 A503
Oget+=ZHI 12,000,000 *95% 11,400
OAIZII22T 24|
8,0003x641x13&x 122 7,488
02 s3=gHl 15,000 14,000 1,000
OZ332= 2 HMAl 15,000
202 04l 18,720 17,280 1,440
01 2LHoIH 18,720 17,280 1,440
OZLH0AH| 120,000 x13E « 12& 18,720
203 gR=4| 9,460 9,420 40
01 D[22 LR FA| 5,940 5,940 0
OsZ(el+ 3et 0/gh) 6,600,000 *00fk 5,940
02 32 JRHH 2= 520 480 40
OFAIIAALZFH| (R 129!)
40,0002 13 520
M EASHLRFAH 3,000 3,000 0
ORN2ILRFEHI(1521018t)
250,000& 122 3,000
405 KHoHF S| 1,100 750 350
01 ML ESFSHI 1,100 750 350
O=RdooIa +g 550,000 *2K 1,100
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SN 2m3s
B #E2AAY|(223S)
=91: Jl=3dl (EH9): ®2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
02 2224l 12,54 12,132 462
O32323 £ HMAl 12,132
ORI HiAY SMR3
38,5002 12& 462
202 0441 14,040 15,840 21,800
01 =WO4bI 14,040 15,840 21,800
OZLHOHI 90,000 * 138+ 12& 14,040
203 PR F=&IH| 9,460 9,420 40
01 J| 222G RFA| 5,940 5,940 0
SAH(QI7 38t O]9 6,600,000 x90% 5,940
02 BRI 2| 520 480 40
OFIHIARF=AIH|(ZR1302!)
40,0002 * 13 520
M EN2HEHRFAY| 3,000 3,000 0
OfRMNM2ILRFZIH|(1521013t)
250,000& =12 3,000
405 KHHESH| 720 4,740 A4,020
01 ML =EFSHI 720 4,740 24,020
O 180,000 & *2I4 360
O0lsME 120,000 & *34 360
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=
KHE J18Hr28H2243)
X

A £ 0l & AF & S

Al A

|[tE 24 U (Gt H2)
M- B SRAEA) - HRAR - B2 of v G o HIDE2
198,238 161,807 46,431
XHE JI8R4sH(R24S) 137,400 90,620 46,780
SAHE 2 W 137,400 90,620 46,780
& gs K& 98,360 75,360 23,000
201 fer= 3| 1,080 480 600
01 At 2|l 1,080 480 600
OSZ HEs & R
30,0002 * 16H 480
OSTUNSIAT BH 2
100,000 3 »23] 600
301 EtE N = 97,280 74,880 22,400
07 S8 -0 - 2243 97,280 74,880 22,400
Osgd =g 400,000 x16H* 122 76,800
osgd g2 ¢ 400,000 « 16 <22 12,800
OS&39 I
20,0002 x 16 22|« 12& 7,680
BIXixl 2l 2 5,400 5,400 0
201 Ler=23| 5,400 5,400
01 Al2 2218 5,400 5,400
OFURXIAAS 512 &A gt
20,0002 x25EH 122 x90f% 5,400
SA=Al & Atef2el 33,640 9,860 23,780
201 et 3| 11,640 9,860 1,780
02 s3=gHl 11,640 9,860 1,780
OSAHAZ2R I 2,400
Oxr&= A2/l 3,000
Oxgesgz 1,000,000 *2CH 2,000
ORILAN Bl S99l 120,000& * 122 1,440
OSAH &9 S4H| 110,000~ 12& 1,320
Ooulloi A=A 100,000 «7CH 700
OV X & R, 2el
65,0003 * 12 780
401 AlEHIZ S 0HbI 22,000 22,000
01 A28l 22,000 22,000
O1, 28 &4 2 ZA 22,000
Y2 AU (2=248) 60,838 61,187 A349
Jl=3H| 60,838 61,187 A349
Jl=23H] 60,838 61,187 A349
201 er2&| 31,908 29,387 2,521
01 At2teltl 17,463 16,887 576
Odgt+==H| 10,500,000 *95% 9,975
OAZ2IZ22T 2
8,000 x6A1 %13+ 12 7,488
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SN BZYE
M HE2HAY|(2DUS)
=91: Jl=3dl (EH9): ®2)
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